Laredo College Grade Distribution by Course & Discipline Totals by Department SSII 2022

	# of	Total	A	's	i i	B's		C's]	D's		P's		NP's		F's		I's	1	IC's	1	W's
Departments	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
Allied Health	4	43	25	58.14%	18	41.86%																
Art	1	26	6	23.08%	9	34.62%	4	15.38%	4	15.38%					1	3.85%					2	7.69%
Business and Management	3	56	25	44.64%	14	25.00%			2	3.57%					15	26.79%						
CIS/Electronics/CAD	1	14	5	35.71%	8	57.14%	1	7.14%														
English	14	257	70	27.24%	92	35.80%	39	15.18%	14	5.45%	3	1.17%			24	9.34%			6	2.33%	9	3.50%
Foreign Languages	1	30	20	66.67%	7	23.33%	1	3.33%	2	6.67%												
Industrial Trades	8	62	5	8.06%	21	33.87%	24	38.71%	6	9.68%					4	6.45%					2	3.23%
Kinesiology	5	177	141	79.66%	22	12.43%	5	2.82%	2	1.13%					5	2.82%					2	1.13%
Mathematics	15	288	118	40.97%	57	19.79%	26	9.03%	8	2.78%	23	7.99%			23	7.99%			9	3.13%	24	8.33%
Performing Arts	1	19	10	52.63%	7	36.84%			2	10.53%												
Nursing (B.S.N.)	2	46	32	69.57%	12	26.09%									2	4.35%						
Nursing (A.D.N.)	2	63	1	1.59%	33	52.38%	21	33.33%	8	12.70%												
Protective Services	2	22	9	40.91%	9	40.91%									2	9.09%					2	9.09%
Reading and Communications	4	75	33	44.00%	15	20.00%	10	13.33%	5	6.67%					7	9.33%					5	6.67%
Science	31	548	210	38.32%	136	24.82%	102	18.61%	35	6.39%					33	6.02%					32	5.84%
Social & Behavioral Sciences	24	497	277	55.73%	126	25.35%	39	7.85%	10	2.01%					26	5.23%					19	3.82%

Total All Departments	118	2,223	987	44.40%	586	26.36%	272	12.24%	98	4.41%	26	1.17%		142	6.39%		15	0.67%	97	4.36%

Success Rate (Grades A,B or C):	1,845	83.00%
Passing Rate (Grades A,B,C or P):	1,871	84.17%
Failing Rate (Grades D,F,I,NP,NC,W):	352	15.83%
Retention Rate (Excluding W's only):	2,126	95.64%

	# of	Total		A's		B's	('s	Г	D's	P	's	N	P's	1	F's		I's	N	C's	V	W's
Discipline Description	Sects.	Enrollm	t #	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
						\mathbf{A}	llied F	Iealth 1	Depa	rtmen	t											
								DMS	-													
DMSO 2260 Clncl-DMS/Sono & Ultrasnd Tech	1	1 12	2 10	83.33%	2	16.67%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.009
Total DMSO	1	l 12	1	83.33%	2	16.67%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
								EMS	SP													
EMSP 1260 Clinical EMT Paramedic II	1	10)	90.00%	1	10.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
EMSP 1305 Emergency Care Attendant	1	10) (0.00%	10	100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total EMSP	1	2 20) !	9 45.00%	11	55.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
								RAD	R													
RADR 1361 Clinical Practicum II	1	11		54.55%	5	45.45%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total RADR	1	l 11	l	54.55%	5	45.45%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total Allied Health		1 43	2:	5 58 14%	18	41 86%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%

Laredo College

Grade Distribution by Course & Discipline

SSII 2022 (as of August 23, 2022)

	# of	Total		A's		B's		C's		D's		P's]	NP's		F's		I's	1	NC's		W's
Discipline Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%

Art Department ARTS

					AKI	S .								
ARTS 1301 Art Appreciation	1	26	6 23.08%	9 34.62%	4 15.38%	4 15.38%	0.00%	0.00%	1 3.85%	0.00%	0	0.00%	2	7.69%
Total ARTS	1	26	6 23.08%	9 34.62%	4 15.38%	4 15.38%	0 0.00%	0 0.00%	1 3.85%	0 0.00%	0	0.00%	2 7	7.69%
Total Art	1	26	6 23.08%	9 34.62%	4 15.38%	4 15.38%	0 0.00%	0 0.00%	1 3.85%	0 0.00%	0	0.00%	2	7.69%

	# of	Total	,	A's	I	B's	C	's		D's	r.	o's		IP's		F's		I's	N	C's	7	V's
Discipline Description		Enrollmt		%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
Discipline Description	Decis.	, , , , , , , , , , , , , , , , , , , 	"	/0	"	/0	"	<i>,</i> •	"	70	"	70	"	<i>,</i> 0	"	/0	"	70	"	70		70
					_			_		. =												
					Bu	isiness	and N	Ianag	emen	t Depa	artme	nt										
								ACC	T													
ACCT 2401 Principles of Fin Accounting	1	19	7	36.84%	2	10.53%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	10	52.63%	0	0.00%	0	0.00%	0	0.00%
ACCT 2402 Principles of Mngr Accounting	1	20	6	30.00%	9	45.00%	0	0.00%	2	10.00%	0	0.00%	0	0.00%	3	15.00%	0	0.00%	0	0.00%	0	0.00%
Total ACCT	2	2 39	13	33.33%	11	28.21%	0	0.00%	2	5.13%	0	0.00%	0	0.00%	13	33.33%	0	0.00%	0	0.00%	0	0.00%
								BUS	SI													
BUSI 1301 Business Principles	1	17	12	70.59%	3	17.65%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	2	11.76%	0	0.00%	0	0.00%	0	0.00%
Total BUSI	1	l 17	12	70.59%	3	17.65%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	2	11.76%	0	0.00%	0	0.00%	0	0.00%
Total Business and Management	3	3 56	25	44.64%	14	25.00%	0	0.00%	2	3.57%	0	0.00%	0	0.00%	15	26.79%	0	0.00%	0	0.00%	0	0.00%

	# of Total	A's	B's	C's	D's	P's	NP's	F's	I's	NC's	W's
Discipline Description	Sects. Enrollm	t # %	# %	# %	# %	# %	# %	# %	# %	# %	# %

CIS/Electronics/CAD Department

•	٦	•	`	C	•	٦
ı		l	,	. 7	u	

						COB	_													
COSC 1301 Introduction to Computing	1	14	5 35.71%	8 57.14%	1	7.14%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total COSC	1	14	5 35.71%	8 57.14%	1	7.14%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total CIS/Electronics/CAD	1	14	5 35.71%	8 57.14%	1	7.14%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%

	# of	Total		A's	1	3's		C's	ı	D's	P	's		P's	F	"s		I's	N	IC's		W's
Discipline Description		Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
							Engl	lish De	partn	nent												
								ENG														
ENGL 1301 Composition I	1	7	4	57.14%	3	42.86%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Sub-Total (On-Campus)	1	7	4	57.14%	3	42.86%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
ENGL 1301 Composition I	4	73	19	26.03%	28	38.36%	10	13.70%	3	4.11%	0	0.00%	0	0.00%	11	15.07%	0	0.00%	0	0.00%	2	2.74%
ENGL 1302 Composition II	3	65	33	50.77%	15	23.08%	6	9.23%	3	4.62%	0	0.00%	0	0.00%	5	7.69%	0	0.00%	0	0.00%	3	4.62%
ENGL 2327 American Literature I	3	61	8	13.11%	24	39.34%	16	26.23%	5	8.20%	0	0.00%	0	0.00%	5	8.20%	0	0.00%	0	0.00%	3	4.92%
ENGL 2328 American Literature II	1	16	0	0.00%	7	43.75%	2	12.50%	3	18.75%	0	0.00%	0	0.00%	3	18.75%	0	0.00%	0	0.00%	1	6.25%
Sub-Total (Distance-Ed)	11	215	60	27.91%	74	34.42%	34	15.81%	14	6.51%	0	0.00%	0	0.00%	24	11.16%	0	0.00%	0	0.00%	9	4.19%
Total ENGL	12	222	64	28.83%	77	34.68%	34	15.32%	14	6.31%	0	0.00%	0	0.00%	24	10.81%	0	0.00%	0	0.00%	9	4.05%
								INR	W													
INRW 376 Integrated Rdg Wrtng III	2	35	6	17.14%	15	42.86%	5	14.29%	0	0.00%	3	8.57%	0	0.00%	0	0.00%	0	0.00%	6	17.14%	0	0.00%
Total INRW	2	35	6	17.14%	15	42.86%	5	14.29%	0	0.00%	3	8.57%	0	0.00%	0	0.00%	0	0.00%	6	17.14%	0	0.00%
Total English	14	257	70	27.24%	92	35.80%	39	15.18%	14	5.45%	3	1.17%	0	0.00%	24	9.34%	0	0.00%	6	2.33%	9	3.50%

Laredo College Grade Distribution by Course & Discipline

SSII 2022 (as of August 23, 2022)

		# of	Total		A's		B's		C's		D's		P's		NP's		F's		I's]	NC's	,	W's
Dis	ipline Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%

Foreign Languages Department

CI	D	٨	T	J
	Ι.	∕-•		ч

								OI A	. 1													
SPAN 2312 Intermediate Spanish II	1	30	20	66.67%	7	23.33%	1	3.33%	2	6.67%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total SPAN	1	30	20	66.67%	7	23.33%	1	3.33%	2	6.67%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total Foreign Languages	1	30	20	66.67%	7	23.33%	1	3.33%	2	6.67%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%

	# of	Total		A's	1	3's	(C's		D's	I	P's	N	NP's	1	F's		I's	N	IC's	,	W's
Discipline Description	Sects.	Enrollm	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
						Indu	ıstria	l Trade	es De	partm	ent											
	Industrial Trades Department WLDG																					
WLDG 1457 Interm Shielded Metl	•																					
WLDG 2435 Adv Layout and Fabri	cation	2 13	1	7.69%	7	53.85%	2	15.38%	1	7.69%	0	0.00%	0	0.00%	2	15.38%	0	0.00%	0	0.00%	0	0.00%
WLDG 2443 Adv Shielded Metal A	rc Wldg	2 18	1	5.56%	4	22.22%	8	44.44%	4	22.22%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	5.56%
WLDG 2453 Advanced Pipe Weldi	ng	2 13	1	7.69%	4	30.77%	6	46.15%	0	0.00%	0	0.00%	0	0.00%	2	15.38%	0	0.00%	0	0.00%	0	0.00%
Total WLDG		8 62	5	8.06%	21	33.87%	24	38.71%	6	9.68%	0	0.00%	0	0.00%	4	6.45%	0	0.00%	0	0.00%	2	3.23%

6 9.68%

0 0.00%

0.00%

4 6.45%

0 0.00%

24 38.71%

5 8.06%

21 33.87%

Total Industrial Trades

0 0.00%

2 3.23%

	# of	Total	1	A's	1	B's	(C's		D's	P	's	N	P's	F	"s		I's	N	IC's	,	W's
Discipline Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
						K	inesi	ology I	Dena	rtment	t											
	Kinesiology Department KINE																					
KINE 1301 Foundations of Kinesiology	2	75	67	89.33%	8	10.67%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
KINE 1304 Personal Community Health	2	71	53	74.65%	9	12.68%	1	1.41%	2	2.82%	0	0.00%	0	0.00%	4	5.63%	0	0.00%	0	0.00%	2	2.82%
KINE 1346 Drug Use and Abuse	1	31	21	67.74%	5	16.13%	4	12.90%	0	0.00%	0	0.00%	0	0.00%	1	3.23%	0	0.00%	0	0.00%	0	0.00%
Total KINE	5	177	141	79.66%	22	12.43%	5	2.82%	2	1.13%	0	0.00%	0	0.00%	5	2.82%	0	0.00%	0	0.00%	2	1.13%

2 1.13%

0.00%

0.00%

5 2.82%

0.00%

0.00%

2 1.13%

5 2.82%

Total Kinesiology

177

141 79.66%

22 12.43%

	_								-													
	# of	Total	A	A's	В	's		C's	1)'s	P	's	N	VP's	1	f's		I's	1	NC's		W's
Discipline Description		Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
		'	,			,	,					"				,"				,		
						N	_ 41	4•	D	4	4											
						IVI	atner	natics l	-	rtmen	ι											
								MAT	ГН													
MATH 1314 College Algebra	1	11	7	63.64%	3	27.27%	0	0.00%	1	9.09%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Sub-Total (On-Campus)	1	11	7	63.64%	3	27.27%	0	0.00%	1	9.09%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
MATH 314 College Algebra Co Req	2	41	5	12.20%	1	2.44%	2	4.88%	0	0.00%	23	56.10%	0	0.00%	0	0.00%	0	0.00%	9	21.95%	1	2.44%
MATH 1314 College Algebra	4	- 68	27	39.71%	18	26.47%	6	8.82%	1	1.47%	0	0.00%	0	0.00%	12	17.65%	0	0.00%	0	0.00%	4	5.88%
MATH 1324 Math for Bus and Soc Science	1	22	5	22.73%	5	22.73%	4	18.18%	0	0.00%	0	0.00%	0	0.00%	2	9.09%	0	0.00%	0	0.00%	6	27.27%
MATH 1325 Calculus For Bus and Soc Sci	1	26	11	42.31%	6	23.08%	0	0.00%	3	11.54%	0	0.00%	0	0.00%	5	19.23%	0	0.00%	0	0.00%	1	3.85%
MATH 1342 Elem Statistical Methods	2	50	37	74.00%	10	20.00%	2	4.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	2.00%
MATH 1351 Math for Tchr II Fund of Math	1	15	6	40.00%	4	26.67%	4	26.67%	0	0.00%	0	0.00%	0	0.00%	1	6.67%	0	0.00%	0	0.00%	0	0.00%
MATH 2412 Pre-Calculus Math	1	18	9	50.00%	4	22.22%	0	0.00%	2	11.11%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	3	16.67%
MATH 2413 Calculus I	1	27	1	3.70%	6	22.22%	8	29.63%	1	3.70%	0	0.00%	0	0.00%	3	11.11%	0	0.00%	0	0.00%	8	29.63%
MATH 2414 Calculus II	1	10	10	100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Sub-Total (Distance-Ed)	14	277	111	40.07%	54	19.49%	26	9.39%	7	2.53%	23	8.30%	0	0.00%	23	8.30%	0	0.00%	9	3.25%	24	8.66%
Total MATH	15	288	118	40.97%	57	19.79%	26	9.03%	8	2.78%	23	7.99%	0	0.00%	23	7.99%	0	0.00%	9	3.13%	24	8.33%

26 9.03%

8 2.78%

23 7.99%

0.00%

23 7.99%

0.00%

9 3.13%

Total Mathematics

15

118 40.97%

57 19.79%

8.33%

24

		# of	Total		A's		B's		C's		D's]	P's		NP's		F's		I's	1	NC's	,	W's
Discipline	Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%

Performing Arts Department

_	-	 -	_
•	/I		
-17	/	. 7	

								11100	, 1													
MUSI 1310 American Music	1	19	10	52.63%	7	36.84%	0	0.00%	2	10.53%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total MUSI	1	19	10	52.63%	7	36.84%	0	0.00%	2	10.53%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total Performing Arts	1	19	10	52.63%	7	36.84%	0	0.00%	2	10.53%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%

		# of	Total	,	A's		B's		C's		D's		P's		NP's		F's		I's	1	NC's	,	W's
Discipline	Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%

Nursing (B.S.N.) Department

NURS

									~													
NURS 3312 Holistic Health Assessment	1	23	17	73.91%	5	21.74%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	4.35%	0	0.00%	0	0.00%	0	0.00%
NURS 3315 Pro Role Dev for Bach Prep Nur	1	23	15	65.22%	7	30.43%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	4.35%	0	0.00%	0	0.00%	0	0.00%
Total NURS	2	46	32	69.57%	12	26.09%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	2	4.35%	0	0.00%	0	0.00%	0	0.00%
Total Nursing (B.S.N.)	2	46	32	69.57%	12	26.09%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	2	4.35%	0	0.00%	0	0.00%	0	0.00%

	# of Total	A's	B's	C's	D's	P's	NP's	F's	I's	NC's	W's
Discipline Description	Sects. Enrollm	t # %	# %	# %	# %	# %	# %	# %	# %	# %	# %

Nursing (A.D.N.) Department RNSG

								111101	•													
RNSG 1201 Pharmacology	2	63	1	1.59%	33	52.38%	21	33.33%	8	12.70%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total RNSG	2	63	1	1.59%	33	52.38%	21	33.33%	8	12.70%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total Nursing (A.D.N.)	2	63	1	1.59%	33	52.38%	21	33.33%	8	12.70%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%

	# of	Total		A's]	B's	(C's	I	D's	P	o's	N	IP's]	F's		I's	N	C's	v	W's
Discipline Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
						Prot	ective	Servic	es De	epartm	ent											
								CJC	CR													
CJCR 1300 Basic Jail Course	1	9	2	22.22%	6	66.67%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	11.11%	0	0.00%	0	0.00%	0	0.00%
Total CJCR	1	9	2	22.22%	6	66.67%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	11.11%	0	0.00%	0	0.00%	0	0.00%
								CJS	A													
CJSA 2334 Contemporary Issues in CJ	1	13	7	53.85%	3	23.08%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	7.69%	0	0.00%	0	0.00%	2	15.38%
Total CJSA	1	13	7	53.85%	3	23.08%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	7.69%	0	0.00%	0	0.00%	2	15.38%
	1								0		-		-		1 1		-		-		2 2	

0.00%

0 0.00%

0.00%

0 0.00%

2 9.09%

0.00%

0.00%

2 9.09%

Total Protective Services

22

9 40.91%

9 40.91%

		# of	Total		A's		B's		C's		D's		P's		NP's		F's		I's	1	NC's	,	W's
Discipline	Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%

Reading and Communications Department

SPCH

									D1 0														
SPCH	1311 Intro to Speech Communication	2	29	14	48.28%	8	27.59%	5	17.24%	0	0.00%	0	0.00%	0	0.00%	1	3.45%	0	0.00%	0	0.00%	1	3.45%
SPCH	1315 Public Speaking	2	46	19	41.30%	7	15.22%	5	10.87%	5	10.87%	0	0.00%	0	0.00%	6	13.04%	0	0.00%	0	0.00%	4	8.70%
Total	SPCH	4	75	33	44.00%	15	20.00%	10	13.33%	5	6.67%	0	0.00%	0	0.00%	7	9.33%	0	0.00%	0	0.00%	5	6.67%
Tot	al Reading and Communications	4	75	33	44.00%	15	20.00%	10	13.33%	5	6.67%	0	0.00%	0	0.00%	7	9.33%	0	0.00%	0	0.00%	5	6.67%

BIOL 2101 Anatomy and Physiology I Lab Sub-Total (On-Campus) BIOL 1106 Biol for Sci Majors I Lab BIOL 1107 Biol for Sci Majors II Lab BIOL 1108 Biol Non Sci Majors II Lab BIOL 1306 Biology for Science Majors I BIOL 1307 Biol for Science Majors II BIOL 1308 Biol Non Science Majors II BIOL 1308 Biol Non Science Majors I BIOL 2101 Anatomy and Physiology I Lab BIOL 2102 Anatomy Physiology II Lab BIOL 2301 Anatomy and Physiology I BIOL 2302 Anatomy and Physiology I BIOL 2302 Anatomy and Physiology II Sub-Total (Distance-Ed) Total BIOL CHEM 1105 Introductory Chemistry I Lab CHEM 1112 General Chemistry II Lab	1	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	0/	#	0.4	.,					
Sub-Total (On-Campus) BIOL 1106 Biol for Sci Majors I Lab BIOL 1107 Biol for Sci Majors II Lab BIOL 1108 Biol Non Sci Majors Lab I BIOL 1306 Biology for Science Majors I BIOL 1307 Biol for Science Majors II BIOL 1308 Biol Non Science Majors II BIOL 2101 Anatomy and Physiology I Lab BIOL 2102 Anatomy Physiology II Lab BIOL 2301 Anatomy and Physiology I BIOL 2302 Anatomy and Physiology II Sub-Total (Distance-Ed) Total BIOL CHEM 1105 Introductory Chemistry I Lab	_									, ,	"	/0	#	%	#	%	#	%	#	%	#	%
Sub-Total (On-Campus) BIOL 1106 Biol for Sci Majors I Lab BIOL 1107 Biol for Sci Majors II Lab BIOL 1108 Biol Non Sci Majors Lab I BIOL 1306 Biology for Science Majors I BIOL 1307 Biol for Science Majors II BIOL 1308 Biol Non Science Majors II BIOL 2101 Anatomy and Physiology I Lab BIOL 2102 Anatomy Physiology II Lab BIOL 2301 Anatomy and Physiology I BIOL 2302 Anatomy and Physiology II Sub-Total (Distance-Ed) Total BIOL CHEM 1105 Introductory Chemistry I Lab	_						a .	_														
Sub-Total (On-Campus) BIOL 1106 Biol for Sci Majors I Lab BIOL 1107 Biol for Sci Majors II Lab BIOL 1108 Biol Non Sci Majors Lab I BIOL 1306 Biology for Science Majors I BIOL 1307 Biol for Science Majors II BIOL 1308 Biol Non Science Majors II BIOL 1308 Biol Non Science Majors I BIOL 2101 Anatomy and Physiology I Lab BIOL 2102 Anatomy Physiology II Lab BIOL 2301 Anatomy and Physiology I BIOL 2302 Anatomy and Physiology II Sub-Total (Distance-Ed) Total BIOL CHEM 1105 Introductory Chemistry I Lab	_						Scien	ice Dej	-	nent												
Sub-Total (On-Campus) BIOL 1106 Biol for Sci Majors I Lab BIOL 1107 Biol for Sci Majors II Lab BIOL 1108 Biol Non Sci Majors Lab I BIOL 1306 Biology for Science Majors I BIOL 1307 Biol for Science Majors II BIOL 1308 Biol Non Science Majors II BIOL 2101 Anatomy and Physiology I Lab BIOL 2102 Anatomy Physiology II Lab BIOL 2301 Anatomy and Physiology I BIOL 2302 Anatomy and Physiology I BIOL 2302 Anatomy and Physiology II Sub-Total (Distance-Ed) Total BIOL CHEM 1105 Introductory Chemistry I Lab	_	6	1	16.67%	2	50.00%	0	BIO 0.00%	0 0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	2	33.339
BIOL 1106 Biol for Sci Majors I Lab BIOL 1107 Biol for Sci Majors II Lab BIOL 1108 Biol Non Sci Majors Lab I BIOL 1306 Biology for Science Majors I BIOL 1307 Biol for Science Majors II BIOL 1308 Biol Non Science Majors I BIOL 2101 Anatomy and Physiology I Lab BIOL 2102 Anatomy Physiology II Lab BIOL 2301 Anatomy and Physiology I BIOL 2302 Anatomy and Physiology I BIOL 2302 Anatomy and Physiology II Sub-Total (Distance-Ed) Total BIOL CHEM 1105 Introductory Chemistry I Lab	1	6	1	16.67%	3	50.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	2	33.339
BIOL 1107 Biol for Sci Majors II Lab BIOL 1108 Biol Non Sci Majors Lab I BIOL 1306 Biology for Science Majors I BIOL 1307 Biol for Science Majors II BIOL 1308 Biol Non Science Majors II BIOL 2101 Anatomy and Physiology I Lab BIOL 2102 Anatomy Physiology II Lab BIOL 2301 Anatomy and Physiology I BIOL 2302 Anatomy and Physiology II Sub-Total (Distance-Ed) Total BIOL CHEM 1105 Introductory Chemistry I Lab	1	0	1	10.07 /0	3	30.0070	U	0.0070	0	0.0070	0	0.0070	U	0.0070	0	0.0070	U	0.0070		0.0070	- 2	33.33
BIOL 1108 Biol Non Sci Majors Lab I BIOL 1306 Biology for Science Majors I BIOL 1307 Biol for Science Majors II BIOL 1308 Biol Non Science Majors II BIOL 2101 Anatomy and Physiology I Lab BIOL 2102 Anatomy Physiology II Lab BIOL 2301 Anatomy and Physiology I BIOL 2302 Anatomy and Physiology II Sub-Total (Distance-Ed) Total BIOL CHEM 1105 Introductory Chemistry I Lab	1	8	4	50.00%	2	25.00%	0	0.00%	1	12.50%	0	0.00%	0	0.00%	1	12.50%	0	0.00%	0	0.00%	0	0.009
BIOL 1306 Biology for Science Majors I BIOL 1307 Biol for Science Majors II BIOL 1308 Biol Non Science Majors I BIOL 2101 Anatomy and Physiology I Lab BIOL 2102 Anatomy Physiology II Lab BIOL 2301 Anatomy and Physiology I BIOL 2302 Anatomy and Physiology I Sub-Total (Distance-Ed) Total BIOL CHEM 1105 Introductory Chemistry I Lab	2	16	14	87.50%	0	0.00%	2	12.50%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.009
BIOL 1307 Biol for Science Majors II BIOL 1308 Biol Non Science Majors I BIOL 2101 Anatomy and Physiology I Lab BIOL 2102 Anatomy Physiology II Lab BIOL 2301 Anatomy and Physiology I BIOL 2302 Anatomy and Physiology II Sub-Total (Distance-Ed) Total BIOL CHEM 1105 Introductory Chemistry I Lab	1	24	13	54.17%	5	20.83%	4	16.67%	2	8.33%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.009
BIOL 1308 Biol Non Science Majors I BIOL 2101 Anatomy and Physiology I Lab BIOL 2102 Anatomy Physiology II Lab BIOL 2301 Anatomy and Physiology I BIOL 2302 Anatomy and Physiology I Sub-Total (Distance-Ed) Total BIOL CHEM 1105 Introductory Chemistry I Lab	1	14	8	57.14%	4	28.57%	1	7.14%	0	0.00%	0	0.00%	0	0.00%	1	7.14%	0	0.00%	0	0.00%	0	0.009
BIOL 2101 Anatomy and Physiology I Lab BIOL 2102 Anatomy Physiology II Lab BIOL 2301 Anatomy and Physiology I BIOL 2302 Anatomy and Physiology II Sub-Total (Distance-Ed) Total BIOL CHEM 1105 Introductory Chemistry I Lab	2	18	13	72.22%	3	16.67%	2	11.11%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.009
BIOL 2102 Anatomy Physiology II Lab BIOL 2301 Anatomy and Physiology I BIOL 2302 Anatomy and Physiology II Sub-Total (Distance-Ed) Total BIOL CHEM 1105 Introductory Chemistry I Lab	2	50	11	22.00%	12	24.00%	16	32.00%	1	2.00%	0	0.00%	0	0.00%	3	6.00%	0	0.00%	0	0.00%	7	14.009
BIOL 2301 Anatomy and Physiology I BIOL 2302 Anatomy and Physiology II Sub-Total (Distance-Ed) Total BIOL CHEM 1105 Introductory Chemistry I Lab	2	30	1	3.33%	6	20.00%	8	26.67%	4	13.33%	0	0.00%	0	0.00%	8	26.67%	0	0.00%	0	0.00%	3	10.009
BIOL 2302 Anatomy and Physiology II Sub-Total (Distance-Ed) Total BIOL CHEM 1105 Introductory Chemistry I Lab	3	56	12	21.43%	16	28.57%	17	30.36%	4	7.14%	0	0.00%	0	0.00%	1	1.79%	0	0.00%	0	0.00%	6	10.719
Sub-Total (Distance-Ed) Total BIOL CHEM 1105 Introductory Chemistry I Lab	2	38	0	0.00%	2	5.26%	15	39.47%	7	18.42%	0	0.00%	0	0.00%	9	23.68%	0	0.00%	0	0.00%	5	13.169
CHEM 1105 Introductory Chemistry I Lab	3	55	21	38.18%	24	43.64%	6	10.91%	3	5.45%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	1.829
CHEM 1105 Introductory Chemistry I Lab	19	309	97	31.39%	74	23.95%	71	22.98%	22	7.12%	0	0.00%	0	0.00%	23	7.44%	0	0.00%	0	0.00%	22	7.129
	20	315	98	31.11%	77	24.44%	71	22.54%	22	6.98%	0	0.00%	0	0.00%	23	7.30%	0	0.00%	0	0.00%	24	7.62%
								СНЕ	M													
CHEM 1112 General Chemistry II Lab	1	11	4	36.36%	3	27.27%	2	18.18%	1	9.09%	0	0.00%	0	0.00%	1	9.09%	0	0.00%	0	0.00%	0	0.009
	1	27	13	48.15%	6	22.22%	1	3.70%	1	3.70%	0	0.00%	0	0.00%	4	14.81%	0	0.00%	0	0.00%	2	7.419
CHEM 1305 Introductory Chemistry I	1	18	7	38.89%	5	27.78%	3	16.67%	2	11.11%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	5.569
CHEM 1312 General Chemistry II	2	35	13	37.14%	12	34.29%	5	14.29%	2	5.71%	0	0.00%	0	0.00%	1	2.86%	0	0.00%	0	0.00%	2	5.719
Total CHEM	5	91	37	40.66%	26	28.57%	11	12.09%	6	6.59%	0	0.00%	0	0.00%	6	6.59%	0	0.00%	0	0.00%	5	5.49%
								GEO) L													
GEOL 1101 Earth Sci NonSci Majrs I Lab	1	5	0	0.00%	3	60.00%	2	40.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.009
Sub-Total (On-Campus)	1	5	0	0.00%	3	60.00%	2	40.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.009
GEOL 1101 Earth Sci NonSci Majrs I Lab	1	19	1	5.26%	5	26.32%	6	31.58%	3	15.79%	0	0.00%	0	0.00%	1	5.26%	0	0.00%	0	0.00%	3	15.799
GEOL 1301 Earth Sci Non Sci Majors I	2	53	14	26.42%	22	41.51%	12	22.64%	4	7.55%	0	0.00%	0	0.00%	1	1.89%	0	0.00%	0	0.00%	0	0.009
Sub-Total (Distance-Ed)	3	72	15	20.83%	27	37.50%	18	25.00%	7	9.72%	0	0.00%	0	0.00%	2	2.78%	0	0.00%	0	0.00%	3	4.179
Total GEOL	4	77	15	19.48%	30	38.96%	20	25.97%	7	9.09%	0	0.00%	0	0.00%	2	2.60%	0	0.00%	0	0.00%	3	3.90%
								PHY	7 S													
PHYS 1102 College Physics II Lab	1	32	30	93.75%	1	3.13%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	3.13%	0	0.00%	0	0.00%	0	0.009
PHYS 1302 College Physics II	1	33	30	90.91%	2	6.06%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	3.03%	0	0.00%	0	0.00%	0	0.009
Total PHYS	2	65	60	92.31%	3	4.62%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	2	3.08%	0	0.00%	0	0.00%	0	0.00%
Total Science																						

		Total		\'s		B's		's		D's		's		P's	F	-		I's		C's		V's
Discipline Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
					~					_												
					Soc	ial & I	3ehav			es Depa	artm	ent										
								ECO	N													
ECON 2301 Principles of Macroeconomics	1	25	17	68.00%	3	12.00%	2	8.00%	0	0.00%	0	0.00%	0	0.00%	2	8.00%	0	0.00%	0	0.00%	1	4.00%
ECON 2302 Principles of Microeconomics	1	29	21	72.41%	6	20.69%	1	3.45%	0	0.00%	0	0.00%	0	0.00%	1	3.45%	0	0.00%	0	0.00%	0	0.00%
Total ECON	2	54	38	70.37%	9	16.67%	3	5.56%	0	0.00%	0	0.00%	0	0.00%	3	5.56%	0	0.00%	0	0.00%	1	1.85%
								G 0 T 1	-													
								GOV	T													
GOVT 2305 Federal Government	1	10	3	30.00%	6		1	10.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Sub-Total (On-Campus)	1	10	3	30.00%	6	60.00%	1	10.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
GOVT 2305 Federal Government	2	39	29	74.36%	6	15.38%	1	2.56%	1	2.56%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	2	5.13%
GOVT 2306 Texas Government	5	111	79	71.17%	22	19.82%	5	4.50%	3	2.70%	0	0.00%	0	0.00%	1	0.90%	0	0.00%	0	0.00%	1	0.90%
Sub-Total (Distance-Ed)	7		108	72.00%	28	18.67%	6	4.00%	4	2.67%	0	0.00%	0	0.00%	1	0.67%	0	0.00%	0	0.00%	3	2.00%
Total GOVT	8	160	111	69.38%	34	21.25%	7	4.38%	4	2.50%	0	0.00%	0	0.00%	1	0.63%	0	0.00%	0	0.00%	3	1.88%
								HIST	Γ													
HIST 1301 United States History I	4	71	15	21.13%	25	35.21%	15	21.13%	2	2.82%	0	0.00%	0	0.00%	7	9.86%	0	0.00%	0	0.00%	7	9.86%
HIST 1302 United States History II	4	74	35	47.30%	22	29.73%	6	8.11%	1	1.35%	0	0.00%	0	0.00%	5	6.76%	0	0.00%	0	0.00%	5	6.76%
Total HIST	8	145	50	34.48%	47	32.41%	21	14.48%	3	2.07%	0	0.00%	0	0.00%	12	8.28%	0	0.00%	0	0.00%	12	8.28%
								PSY	C													
PSYC 2301 General Psychology	2		19	48.72%	7		4	10.26%	2	5.13%	0	0.00%	0	0.00%	6	15.38%	0	0.00%	0	0.00%	1	2.56%
PSYC 2314 Life Span Growth and Dev	4		59	59.60%	29	29.29%	4	4.04%	1	1.01%	0	0.00%	0	0.00%	4	4.04%	0	0.00%	0	0.00%	2	2.02%
Total PSYC	6	138	78	56.52%	36	26.09%	8	5.80%	3	2.17%	0	0.00%	0	0.00%	10	7.25%	0	0.00%	0	0.00%	3	2.17%
Total Social & Behavioral Sciences	24	497	277	55.73%	126	25.35%	39	7.85%	10	2.01%	0	0.00%	0	0.00%	26	5.23%	0	0.00%	0	0.00%	19	3.82%

	# of	Total		A's	1	B's		C's	1	D's	1	P's	1	NP's	F	"s		I's	N	IC's	V	W's
Discipline Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
Total All Departments	118	2,223	987	44.40%	586	26.36%	272	12.24%	98	4.41%	26	1.17%	0	0.00%	142	6.39%	0	0.00%	15	0.67%	97	4.36%

Success Rate (Grades A,B or C):	1,845	83.00%
Passing Rate (Grades A,B,C or P):	1,871	84.17%
Failing Rate (Grades D,F,I,NP,NC,W):	352	15.83%
Retention Rate (Excluding W's only):	2,126	95.64%